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1~47 1780| 833 947/ 1603| 710/ 893 103| 16| 87
5~9% 1648 1130| 518 1701 1154] 637] 61| 12| 48
;*jﬁ;‘:{ 10~29% 0314 1752| 62| 2659| 2016, 643 91| 19| 7.
2o |30 1044 767 277| e97| s47| 150] 22| 06| 16
50~ 200 1349 1004| 345 1300| 99| 331 52| 11| 4i
3008 o] At 018 175] 43| 201| 208| 83| 10| 03| 06
S 5206| 3353 1872 5203| 3001 1912] 184 53| 13
N 161.1] 84| 787 1422| es0| 762| 70| 20| 50
Z7]-elH 3614| 2520| 1086| 378.1| 2631 1150 114| 33| 8
HIZE 2 3126 2308| 819 3139 2314| 825 154] 16| 139
flf; HAL 22 1065 89| 236] 90| 750| 210] 40| 04| 36
A M5 Sets 862| 631 231| 955 690 265/ 40| 05 35
T 508 388 120 503| 381 122] 25 02| 23
L] 473| 319 154 409| 344| 155 35 02| 33
PR e o18] 141 77| 222 1a9| 73] 14| o2 13
eled ot 1621 956 665 1508 962| 636] 76| 19| 57
2 |he~1d oot 1483 96.1| 522| 1205 826 469 37| 06| 3.1
x;i 114 ~24 ojat 08| 1504| 704| 1923| 1280| 644, 70| 10| 60
J12t |or~3u ojot 1336| 962| 373 1222| 895 327| 45| 06| 39
34 oA 1705 1278 427| 2304| 1642| e62| 109] 27| 83
e 703.1| 4829| 2002 6787| 4604 2183] 272| 52| 220
7:'5 At 132.1] 832| 489 1555 1004| 554| 66| 16| 50
X v [2EEY 2ot s77| 372| 205| s03] 323| 180] 26| 07| 19
WA | |7H el ANy 86| 141 146 351 184 67| 20/ 03| 17
S P ENEVE=S 356 249 106| 87| 54| 33 04| 00 04
® |71t 02| 70| 33| 614 439 174] 17| 06| 11

Z) M EZ2AHRSE)ZF 25% Ol&tel B [+, EAIS ot S



b. a2 =1l
=
b-1. A ASFEY AS2= 1
o M, %)
olza 2} 10022 1002k~ 2002 Hi~ 3002+
A ot 2009k ojeb | 3002k o] gk ol¢
2016 A 801.9 339 395.0 309.1 63.8
(T-AdH|) (100.0) (4.2) (49.3) (38.5) (8.0)
=X} 548.8 74 232.2 252.1 571
(F-AdH|) (100.0) (1.3 (42.3) (45.9) (10.4)
of X} 253.0 26.6 162.8 57.0 6.7
(F-AdH|) (100.0) (10.5) (64.3) (22.5) (2.6)
ol=el
2017 & 799.0 32.0 309.2 375.1 82.8
(T-AdH|) (100.0) (4.0) (38.7) (46.9) (10.4)
=R} 545.7 75 169.3 293.0 75.8
(F-AdH|) (100.0) (1.4) (31.0) (53.7) (13.9)
01 X} 2533 24.4 139.9 82.1 7.0
(F-AdH|) (100.0) 9.6) (55.2) (32.4) (2.8)
20174 A 29.1 37 16.6 6.8 2.0
(A H|) (100.0) (12.7) (57.0) (23.4) 6.9)
k *
2|5} =R 6.1 0.1 1.1 3.1 1.7
8|7 1x} .
(F-AdH|) (100.0) (1.7) (18.0) (50.8) (27.9)
o1 X} 23.0 36 15.5 37 0.3
(A H|) (100.0) (15.7) (67.4) (16.1) (1.3)
2017 A 799.0 32.0 309.2 375.1 82.8
H| M 23| 2 (E-9) 255.6 0.0 106.7 1415 74
k2 | 21 (H-2) 165.4 1.8+ 59.6 81.4 226
MEola(E-1~E-7) 382 0.3+ 10.1 188 9.0
M=
X |RE(D-2, D-4-1,7) 12.2 86 3.0 0.6+ 0.0
)
Y 2| = Z(F-4) 170.8 6.6 62.5 80.8 20.9
& F(F-5) 68.1 38 235 29.6 11.3
ZEz0|2l(F-2-1, F-6) 453 6.1 235 9.9 5.7
7| Ef 435 48 20.2 125 5.9
ZF) M EZQAHRSE)7} 25% OlAkel AR M+ EAIE 5198



oz | Y ol =
azx | e ol 23
s | 2s s gs
1.O1D~|2E.I|_(EHH %(I)ZFI A=
2| =2l 100.0 499 14.8 14.9 16.8 50.1
=X 100.0 511 14.6 16.5 15.9 489
0 X} 100.0 474 15.3 11.1 18.9 52.6
RS PAON 100.0 426 10.2+ 16.1 16.1 574
=2\ 100.0 426 14.3+ 0.0+ 28.6+ 574
0f X} 100.0 43.0 10.2* 18.4 16.3 57.4
4 # 2 2 RHRSE)7} 25% Ol Akl Z 2 v
b-3. 88 YUFI9 AT ==
ol: %)
i3z x| SSp A}
e ol |7jz0| Hest ee
2| =2l 100.0 317 9.3 8.0
=2 100.0 355 9.7 8.0
04 X} 100.0 23.6 84 8.0
+ 2t 7HAL 100.0 32.6 8.9 6.5
=2 100.0 443 19.7 14.8
PN 100.0 29.6 6.1 48
2l=el MA 100.0 31.7 9.3 8.0
H|MEF 2 (E-9) 100.0 36.0 52 1.2*
SHEFAU(H-2) 100.0 30.2 8.5 1.9
MEIHE-1~E-T) 100.0 204 212 50.8
FEH(D-2,D4-1,7) 100.0 24.6 4.1+ 21.3
el s Z(F-4) 100.0 33.2 12.1 10.3
A F(F-5) 100.0 32.6 12.8 11.0
ZA=0[2l(F2-1, F-6) 100.0 26.0 104 9.1
7| Et 100.0 23.4 10.8 15.2




>
5-4. d OIEEY Aga= 1}
: %)
o=l 715k517 bt
S I s SiEt | ol | 22k ok7} Sl
D_H% o= | =5 aﬂ% ﬂ_lg olE | T35 |zoix aﬂ%
A 214| 395| 327 137| 405| 402| 52 -
Mubs ol 27| 397| 315 16.4| 36.1| 393| 66 -
HEL 185| 39.0| 354 130| 41.3| 404| 48 -
193] 332| 333 86| 285 419| 186 -
ol=2 gl
E';A" 216| 343| 308 98| 230| 443| 180 -
-
144| 30.8| 388 83| 300| 413| 187 -
172 322| 363 10.3| 316 412| 151 -
=
ot 186| 34.0| 352 6.6 246| 475| 197 -
142| 283| 386 109| 339| 400/ 139 -
B R=kSy 246| 343 323 192| 375| 354| 72 -
5z o
C’OW 252| 322| 330 148| 344| 377 131 -
e 233| 388| 308 204| 383| 348 6.1 -
199| 336| 377 141] 36.1| 409 79 -
T =
;Z 208| 342| 366 115 328| 426| 98 -
181 323| 403 143| 37.0| 404| 74 -
53| 89| 225 27| 89| 247| 79 515
&7
. 55/ 100| 228 49| 98| 279| 82 443
2
47| 66| 218 26| 87| 239| 78 535
133| 21.1| 271 76| 223| 323| 103 25.1
= x|
A 146 229| 279 66| 148| 344| 115 279
105 172| 253 7.4 243| 317| 100 248
176| 271| 324 93| 268| 37.8| 100 14.1
LN
Al 190| 289| 327 98| 246| 410| 98 115
146| 233| 319 9.1| 274| 37.0| 100 14.8
=20l 274| 373| 281 220| 433| 282 24 38
eSpITYRel) 280| 389| 279 213| 443| 295 33« 1.6+
2l 260| 34.0| 286 22| 426| 278 26 48
=20l 266| 372| 289 210| 399| 316/ 41 3.1
Z| ZHALALR} 267| 386| 282 19.7| 39.3| 344| 49 1.6+
2 264| 341| 303 213| 404| 309 39 35




5-5. HI=Bl S Ol= =102 2=t HlwE AZF2=XI
(2rel: %)
2|=¢2l G PN
M | 46| 153 717| 39| 10| 34| 27| 103| 797| 45/ 10 21
A5 | #x | 51| 167] 709] 35 09| 29| 33| 131 83| 33| 16| 00
ofxt | 36| 124| 736| 49| 12¢| 45| 26| 100| 796, 48 09 26
M | 26| 55| 604 203| 38| 74| 17| 41| 725 168 24| 27
oz | wx | 30| 58| 588 218 40| 66| 16| 49| 721| 164 33 00
ofxt | 18| 49| 40| 17| 33| 89| 17| 39| 726/ 170/ 22| 35
M | 34| 160 727| 32| 07| 40| 21| 127| 81| 24| 03 17
ofoer | wxt | 40| 173| 71.7| 27| 07 35 33+ 164| 770| 33+| 00:| 00
ofxt | 21| 131| 750| 41| 08| 49| 17| 17| s2| 22| 04| 17
=) A EE2AHRSE)7F 25% OAlol A T+, EAIZ 51U
5-6. U2HE X AIHEE JIY | - 58 d3a2=1
(EH2l: %)
olzazAt R K| 3]
A 7tel ol | =eAg | Uk oyl | =g
BEY 100.0 325 60.8 67 60.6 349 46
LR} 100.0 343 58.4 74 68.8 26.7 45
0f X 100.0 2838 659 53 428 525 48
SECP 100.0 58.4 399 17 50.8 385 17
LR} 100.0 57.4 410 1.6 623 36.1 1.6
0f X 100.0 58.7 40.0 1.7 58.7 396 17
ol=ol A 100.0 325 60.8 6.7 60.6 349 46
H| M 2 5 & (E-9) 100.0 377 546 77 90.2 73 25
uh2 %91 (H-2) 100.0 233 716 50 409 54.3 48
M2 oled(E-1~E-7) 100.0 343 448 20.7 615 20.4 17.8
M= |REH(D-2 D-4-1,7) 100.0 4.1 88.5 8.0+ 4.9+ 86.9 8.2+
A 7 ol & = (F-4) 100.0 33.0 62.6 4.4 49.4 465 42
o Z(F-5) 100.0 399 55.8 44 517 435 48
2 £0|2I(F-2-1, F-6) 100.0 360 50.2 49 490 483 2 4+
7| E} 100.0 26.7 639 9.2 46.0 4738 6.2
Z) A EZERHRSE)7 25% OlAfel H2 [+, EAIE SIS



6. &1l
6-1. FEDIZHE &1l
(chel: He, %)
e FEIT
B | wesen o oler | SRS | SNES | a0y
2016 A 34.3 3.9 - - - -
= At 17.1 29 - - - -
0 Xt 17.2 6.0 - - - -
el=el | 2017 A 34.5 4.0 21.4 7.9 4.3 0.9+
(748 (100.0 : 62,0 229 (125 28
AL 15.6 2.7 9.7 3.1+ 2.2+ 0.6*
PN, 18.8 6.4 1.7 4.8 2.1x 0.3+
20174 =HA 1.8 5.1 1.0 0.6 0.2+ 0.1+
wa | PEE) (100.0 : (556 (339 (1.1 56
sl Rt 0.2+ 28 0.2+ 0.1+ 00 00+
0 At 1.6 5.6 0.8 0.5 0.2+ 0.1+
F) SUEESAHRSET} 25% olakel AT [+, EAIE S1ig
6-2. FAZEZE dHIH=E+SE]
(2491: %)
—
el=el 24.9 26.4 441 4.3+ 51.0 18.0 0.9
=Xt 23.7+ 31.4 29.5 3.8+ 58.3 23.1 1.3
01 A} 26.6 22.3 56.4 4.8+ 452 13.8+ 0.0+
=k 7HAt 33.3 22.2 38.9 1.1+ 55.6 16.7+ 0.0+
=Rt 50.0+ 0.0+ 50.0+ 0.0 50.0+ 0.0+ 0.0+
01 X} 31.3 25.0 37.5 12.5+ 50.0 12.5+ 0.0+
) MUEEAHRSE} 25% 0l&tel AT [+ EAIE o191

,72,



7. HIBHES2l+

7-1. ESdHE BHESAS

NENEE | mopopa [FTERMR) DA | dmg | =

olalxt 20174 B 3737 151.1 80.3 195 719 50.8
R} 1215 10.6 36.6 938 408 037
0f &} 250 1 140.5 437 97 31.0 07.1
201644 B 3302 133.3 703 175 853 237
(F-AdH]) (100.0 (40.4) (21.3) (53) (25.8) (7.2
R} 101.2 58 319 9.0 439 107
0f X} 2290 127.5 38.4 86 414 13.1

ozl
20174 Bt 356.6 139.8 790 9.1 703 48.4
(7)) (100.0 (39.2) (22.2) (5.4 (19.7) (13.6)
A} 119.5 105 360 97 40.4 230
01 X} 237.0 129.3 430 9.4 29.9 254
20174 Bt 17.1 113 13 04 16 04
asp | (FAED (100.0 (66.1) (7.6) (2.3 0.4) (14.0)
oA Hxt A} 20 0.1+ 06 0.1+ 0.4 07
0f X 5.1 113 07 03 1.2 17

F) A EFL2AHRSE)7F 25% O|Atel A T+ EAIE 5tA2

,73,



. ul=

g Xt 142t L] T =3 Y 8- 7 L =N(=22Y)
(2H2l: %)
oluixt | mgEH g s 2H Y Tesa
BHA| g AS ol | (xf)E o og_sz,_kie_d, xg_ﬂ,%g iﬂ;r%}?_d‘ S| 438 els
2| =2l 100.0 154 52 30.8 45.0 17.6 1.2 1.9+ 84.6
=Rl 100.0 15.9 6.1 28.6 52.3 14.6 8.0 1.2+ 84.1
09 Xt 100.0 14.6 4.1 33.9 34.3 21.8 15.5 2.8 85.4
T &t 7HAL 100.0 16.5 6.9 37.9 39.1 21.8 1.1% 2.3+ 83.5
=PN; 100.0 13.2 8.3+ 33.3 50.0 16.7+ 0.0+ 0.0+ 86.8
PN, 100.0 17.2 6.7 40.0 373 22.7 1.3+ 2.7+ 82.8
F) MU EZELQAHRSE)7F 25% Oolatel AR T+ EAIE SIS
9. Sh=0llAM B2 = " A2 u] = XHEMUIA(SFSE]
(h2l: %)
Hh2 WM e X[IAH|A HED AR WS EEE X[AMH|A
Q| =2l HeFs{ 71Xt o|=ol SN
MA| | LRE [ AKE | MA| | RE | oA&L | A | RE | o4&} | HA| | LK} | 0K}
=0 w= 295|27.1| 32.7| 47.4| 16.5| 54.1| 38.8| 42.4| 34.0| 32.4| 16.5| 35.8
St ALE olsl W= 135 129] 142| 205 99| 22.7| 18.1| 184| 17.7| 16.7| 16.5| 16.7
2= 2 AR s B A 2041 21.0| 196| 14.0| 16.5| 135| 132| 144| 11.7| 44| 55| 41
N4 FHE Y FYUS 14,11 14.0| 14.3] 18.6| 18.7| 186 20.9| 22.2| 19.2| 25.0| 24.2| 25.2
Fdad HE Mz 2 ARz AT 11.01 11.9| 98| 14.0| 99| 14.7| 32.4| 33.3| 31.2| 31.7| 35.2| 31.0
Met™E X[ AAHA 33| 36| 28| 40| 33| 4.1)105| 10.8| 10.0| 104| 176| 8.7
SHAMH|A 30| 35| 24| 36| 1.1x| 41| 57| 65| 46| 25| 22| 25
At S X R MH[ A 29| 28| 30| 49| 1.1«| 57| 55| 47| 66| 65| 66| 64
AAL E4F S JHEA X[ MH[A 34| 10| 64|180| 33| 209| 38| 22| 58| 70| 33«| 7.8
AtAel atE Y WX AH[A 26| 12| 44|173| 44| 200 86| 49| 134|275| 143]| 30.3
S| ME I TE AMH|A 9.7 10.5| 86| 80| 7.7/ 80| 19.9| 188| 21.5| 11.6| 17.6] 10.3
A e 5 FAHXA MH|A 34| 43| 23| 32| 44| 32| 165| 15.4] 18.0| 18.6| 30.8| 16.1
7| Et 0.7] 0.9| 04| 06+| 1.1=| 0.5« 0.1] 0.1] 02| 0.4~| 0.0 0.2*
= 414) 437| 38.3| 28.8| 50.5| 24.3| 16| 18] 14| 13| 22+ 09
F) M EELRHRSE)7 25% olAatel AL T+ EAIE st S



V. FH o Mg
10. HNER X A8
(Ehel: Mo, %)
AMER e
2l UHIFEN | ot E | J|AL | Z|EF | AT & | MEA S A
BEN 12253 7017|1915 2851 769  1468| e610] 4177
(T-AfH]) (1000 (67.3)| (156)] @08 (63| (120 (39| (34.1)
LR} 6957| 3478 847| 2153 478 489 3253|3214
o4 X} 5206| 3539 1068 398 291 977| 3356 96.3
7] 515] 7 X} 527|330 184 02 1.1 26.0 240 07
(FMH]) (100.0) (62.6) (34.9) (0.4) (2.1) (49.3) (45.5) (5.1)
LR} 9.1 6.4 24| 01| 02 29 55 0.7
o4 X} 436| 267 160 0.1 0.9 23.1 185 20
ol 2ol A 12253 7017| 1915 255.1|  769| 1466 6610 4177
b M 2% ¢ (E-9) 2559| 300 83| 1847| 329 0.1+ 190| 23638
ute 5| 91 (H-2) 2015 1710 15| 110 8.0 52| 1642 320
HMeel(E-1~E-7) 385 156 6.7 9.1 7.2 0.4+ 14.6 236
M= |REM(D-2,D4-1,7) 986| 575 35 311 6.4 0.1+ 848 13.7
A ny el 5 = (F-a) 2779 2060 500 119 101 384 1982 413
o F (F-5) 1027|716 284 13+ 14 339 616 7.2
AzololF2-1, F-6) | 1085 619 431 02+ 32 489 53.4 6.2
7| 1417|882 400 59 7.6 19.6 65.2 56.9
F) M EZLAHRSE)7} 25% OlAtel AR T+ EAIE SIS
11. MESE 28 MM HFX
(Ehel: Mo, %)
BEN 1009 110 413 40.0 186
(TAH]) (100.0) (1.1) (40.9) (39.6) (18.4)
et X} 42.1 0.4+ 17.1 16.0 8.7
01 X} 58.8 0.7+ 242 239 9.9
ST 7.9 0.1+ 07 33 1.8
(TAH]) (100.0) (13) (34.2) (41.8) (22.8)
et X} 18 0.0 0.6 0.8 0.4
01 X} 6.1 0.1+ 2.1 25 1.4
Z) Al EZEQAHRSE)7F 25% OlAkel A2 T+, EAIZ 319



12. MESE A28 X EMY A28 M HAFX

NIEEE! 24 A o
24 A 3uHObel |3uHDkel |SeHDkel | {HOk (5HDEY 20Tkl 20Tkl (302k! |40k (502
HFEXE | | olgk | oAb~ | O[ab~ | O|Ak~ | O|Ab | O|BF | O|Ab~ | O[Ab~ [O|Ab~ | OfA}
Bl | = Suorel | (MOl |5HTkel 302kl |402ke) 502k
ojgk | olgk | olg ojgk | ojgt | ojgk
e|=el 560.1| 66.8 138.9 76.4| 1333| 1242 204| 68.2| 146.4| 1904| 835| 717

(F+du]) | (100.00| (11.9) (24.8)| (136)| (23.8)| (22.2) (3.6)] (122)| (26.1)| (34.0)| (14.9)| (12.8)

AL 2832 374 80.5 41.0 64.0 51.8 85| 385| 783| 999| 346 31.9+

0 Xt 276.9| 294 58.5 35.5 69.2 72.4 11.9| 298| 680 904| 489| 397

RES P 16.1 0.8 2.3 1.6 2.9 7.1 1.4 4.5 3.7 4.0 21 1.9+
(7+dde]) | (100.0)| (5.0)] (14.3) 99| (18.0)| (44.1) 8.7)| (28.0) (23.0)| (24.8)| (13.0)] (11.8)

=Rt 38| 0.1+ 0.3 0.5 0.7 1.7 04| 0.8+ 0.6 1.0 0.7 0.7+

0 A} 124 0.7 2.0 1.1 22 54 1.0 3.7 3.0 3.0 1.4 1.2«

ZF) MU EFL2XHRSE)7t 25% O|Atel A x| EAIS 52

13. A 184 HFX 0l |- F X 015 XY

_ A=A 0| A _
ojgix | Toigt | om [ om T o ) 7
S| s | siFxiel | AFxie | AFRlet | OS]
AUS | Zo AZT SY AT Y| chE AE | RS
CHE AlZT
(=2l 1,225.3 138.4 66.0 33.6 38.7 1,086.9
(-4 Hl) (100.0) (11.3) (5.4) 2.7) (3.2 (88.7)
= 695.7 734 31.2 18.0 24.2 622.3
09 Xt 529.6 65.0 34.8 15.6 14.6 464.6
RIS AN 52.7 4.2 2.6 0.8 0.8 48.6
(T-Addl) (100.0) (8.0) (4.9) (1.5) (1.5) (92.2)
=2\ 9.1 0.7 0.4 0.1x 0.2+ 8.4
09 Xt 43.6 3.5 2.2 0.6 0.6 40.2
2=l ™A 1,225.3 138.4 66.0 33.6 38.7 1,086.9
HI ™25 ¥ (E-9) 2559 244 6.9 52 12.3 231.5
g2 F 2 (H-2) 201.5 25.9 1.3 7.8 6.7 175.6
Mzl (E-1~E-7) 38.5 41 1.6% 1.1% 1.4 34.5
H= 7wt (D-2,D-4-1,7) 98.6 14.8 8.8 3.8 2.2 83.8
A % o = = (F-4) 2779 34.8 17.7 8.3 8.8 243.1
&3 (F-5) 102.7 10.4 6.7 2.1% 1.6+ 92.3
ZEolgl(F-2-1, F-6) 108.5 10.3 6.0 2.5+ 1.8+ 98.2
7| Et 141.7 13.8 7.1 2.8+ 4.0 127.9
F) MU EF2AHRSE)7F 25% Oo|AtQl AR T+ EAE SIS



14. &I H=XI0l H=0l= Ol

Sk

[}
30!
N
I

Feiel

HyHZ EE | E=
2l EE SEo | AHFHEY
S| AFOI AL R
HE

I
rlo

LN
-1
for 0
N
0> 1A
oy =

I
0

el=el 1,225.3 156.0| 373.0 76.0| 2476 38.7
(7+AH]) (100.0) (127)]  (30.4) 62| (02 (3.2)

A 695.7 1052 293.0 33.9 115.6 17.6

0 A} 529.6 50.8 80.0 421 132.0 21.1

H 2t 7 FA} 52.7 4.0 29 0.4 9.5 54
(b)) (100.0) (7.6) (5.5) 08| (180 (102
A 9.1 1.1 1.0 0.3+ 2.1 1.0

0 Xt 43.6 3.0 1.9 0.2+ 7.4 4.3

F) A EFL2AHRSE)7F 25% O|Atel A T+ EAIE 5tAS2
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15. XY 149 S0 WA S4AS
(crel: MY, %)
st s 1002H8! | 10024 Olak | Z0BIZI Okk | 3002+
olgh | apelelopt | Apllopr | o] Ak
o= ol 12053 287 1 82.4 3655 394.0 9.2
(M H]) (100.0) (23.4) (6.7) (29.8) (32.2) (7.9
&} 6957 855 28.9 1935 302.7 85.0
of Xt 5206 2016 534 172.0 91.4 1.2
2 5t5] 7 4R} 52.7 165 6.4 186 79 33
(FAH)) (100.0) (313) (12.1) (35.3) (15.0) 6.3
ot K} 9.1 14 07 14 34 23
0f K} 436 5.1 57 172 45 1.1
o/Zol M 12053 287 1+ 82 4+ 3655 394.0 9.2
HI M 222 (E-0) 2559 0.1 0.1 107.6 1410 71
4k 2 5 9 (H-2) 2015 200 36 68.2 84.3 232
Mz olel(E-1~E-7) 385 00 03 10.1 186 95
H= |§3H(D-2, D-4-1,7) 98.6 339 365 251 26+ 0.6+
A gy o = 2 (Fa) 5779 75.1 143 74.9 87.2 265
% % (F-5) 1027 206 66 274 328 132
2420[2I(F-2-1, F-6) 1085 536 102 26,0 11.0 78
=" 1417 796 108 26.2 16.6 85

F) A EFL2XHRSE)7F 25% O|Atel A T+ EAIE 3tAS2

,78,



A A
16. A2t 0] &3 ==+
(chel: MY, %)
ozt 53 14
53
ot sz T
of 13] |01 23] |91 33| |04 43| |91 53] |od 63| | = ‘T | 123 | EE
A 113
o] At
2=l 1,225.3 494.2 354 471 32.3 26.5 17.7 29.3 332 2728 731.1
(F-AH]) (100.0) (403)| (29| @8] @] 2| (4] (24 7| @23 (597
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